IP#5-1 Multiplying Rational Expressions

This activity is designed to be “practice”. Each problem will have a factored form in the “Factored” column associated with a particular letter, a
simplified version of the factored part in the “Simplified” column also associated with a letter, and finally an answer (in simplified form) in the
“Answer” column that is associated with a letter.

Next to the problem number, put the letters associated with the factored, simplified, and answer columns when the problem is done. The letters
should be in order: factored, simplified, answer.

The first problem is an example. Problems from the first page may have answers on the second page and vice versa.



IP#5-1 Multiplying Rational Expressions Name Date Period
Breaking the Code — Multiplying Rational Expression
Code Problem Factored Simplified Answer
Example: 2X+6. 3x—9 : 2(X+3).3(X—3) Y ZZ(XA%) ,8(}»8) 1
XYZ 6x—18 7x+21 6(x—3)  7(x+3) 28x3) " 1) 7
L - 6x—12 5x+15 A(x+8)(x—3) o X+9(x-2) : xAYx~2) (Xx(x=2) X+4
3X+9 4x-8 (X+4)(x+8) (Xx—2(x—4) x~<2) 2343 X+3
2. > w4l 23 Ezx+3)(x+4).2x(x+2)(x—2) ° (XA3)(x+4)  x~3 x—4
162 ¥ 1 Ax-2)  (x+2)(x+2 (x-3)(x+3) X+3 X+2
3. C C
3 —X=20 X+ Tx+12 X(x—4) , (x+5)(x—4) 28(x~2) 53 5
x5 X +8x+16 2(x+5)  3(x-4) 13(x+3) 4(>’«"2) X+3
4, D D
4 X+5x—24 X+3x—10 | _(x+3J(x=3, x+2 A 2x=5) , 4Bx—D(2x+9) 4(x+4)
X +12%+32 X —6x+8 Sx+2)  (x+3)(x+4) | SHx+D(x+4) (2%=5)(2x+5) 3(2x+3)
5. E E
> X +7x+12  x-3 (x=5(x+5), Hx-D D L 3Ax6) S
-9  x+3 (x=9(x+3) (x-D(x+5) )x+) X 2
6. F F
° x=2  x2=2x-8 6(x—2) , 5(x+3) (x+3)(x+4) , 2X(x+2)(x~2) X
X4 xt2 Ax+3) 4(x—2) Hx-2)  (x+)(x+2) 8(x-1)




G

G
Ax+4)(2x=3) | (X=74)(3x+72)

X2—4x X2 +X—20 (x=9)(x+4) , (x+3)(x+4) (x=3)(x+5)
2x+10  3X-12 X=5  (x+4)(x+4) | (x=3)(Hx+2) I2x+3)(3%2) (x+4)(x—4)
8. H H
> X-25 55 x-2_ (x~4)(x+2) x1, 28 X(x~4)
X2 —2x—15 X*+4x—5 (X=2(x+2)  x+2 , 16X () (x-1) 6
9. I |
% X +TX+12 , 2¢-8x (x+4)(2x-5) JABX-D(2x+5) |  HD(X+H), 4(x+3 Ax+5)
IC—6Xx X+4x+4 53x+D(x+4) (2x—5)(2x+5) X%+3 (x+2)(x—2) X—2
10. J J
o 2¢+3-20 24X2+52x-20|  (x+3)(x=2) X(x-2) (rB)(x=3) , (x+5)(x<2) 9
152 +65x+20  42—-25 Ix-2)  2(x+3) (X+A)(x+8) (x~<2)(x—4) X(x+1)
11. K K
H 8 +20x—48, 916 x+l, 20 _(B(x=3),  x+? 2Ax+3)(x+4)
6x2—x—12 18X +3x—36 162 (x+D(x-1) Sx+2)  (x4+3)(x+4) 3(x+2)
12. L L
12 ¥=9 | X2 (x+2)(x+5) ,  4(x+3) (-5(x+4) , (x+3(x+4) X(x=2)
- Bx+10 X2 +7x+12 x+3  (x+2(x-2) -5 (x+4)(x+4) 6
13. M M
13 X +Tx+10  4x+12 (x+3)(x+4) , x-3 X(x—4) , (x+5)(x~) 4(3x-1)
x+3 x4 (X=3(x+3) x+3 2x+5) (x4 53x+)
14 14, N N
| X2 +X—6 | X2 —2X Ix=1) ,3x=6) X2 (x=4)(x+2) 43
3x—6 2x+6 (x=6)(x+1) X(x-D) x-2)(x+2)  x+2
15 " -3 3x-18 ?I(x+4)(2x—3).(3x—4)(3x+4) ° (-5)x+5), 54 _ x-3
X2 —5x—6 X*—X (2x=3)(3x+4) 3(2x+3)(3x—4) (x-9)(x+3) (xD(x+5) 5(x+4)




